
Make loops contiguous

Block 0 
0 constant 0x0 I[0, 0] : Int32
1 goto block1

Block 1 
0 phi constant0 phi15 Int32
1 goto block2

Block 2 
2 constant 0x5 I[5, 5] : Int32
3 compare phi0 constant2 gt Int32
4 test compare3 block9 block3

Block 3 
5 goto block4

0

Block 9 
6 goto block10

1

Block 4 
7 constant 0x6 I[6, 6] : Int32
8 compare phi0 constant7 gt Int32
9 test compare8 block6 block5

Block 5 
10 goto block7

0

Block 6 
11 goto block8

1

Block 7 
12 constant 0x1 I[1, 1] : Int32
13 add phi0 constant12 I[-2147483648, 2147483647] : Int32 (t)
14 goto block8

Block 8 
15 phi phi0 add13 Int32
16 goto block1

Block 10 
17 asmjsreturn phi0


